7h2H|
Fod=t,

?l{
&3

A} 7} o]
Fe A=

5

o we
=

[e]
< 187
= H3A

ot
]
=



U S trHA 9 o] 53 | Aot utE A Aol A2

@ AFFE - 671 @ AZEd - 470
@ A7E - 570 @ 7475 - 770

® oZHE -7






& % mAj2|e] 57} 7}

=i

=

4.

® 1%

Q eZtEd




A =829

i

ohg % 9ol A4t 1070l 3 Al el A%t 24 74

ke

1l

70

ulo

N

<a



?

o=

7 ohe

R EREER

=i

=

6.

oA

<A

@ A



the EX ohRAel tistel B3] A%, A A4, W
BOFg ZAtsho] LrER Zolek [ | obel ke A8 Aeez
R golet
oA | EAEA| | ESTA| | EEA| | ZAO0IHA| | o RMHA|
TR T 4 Q © 20 12
DX2l9] T © 12 12 ® 30
wol et [gazaglinzy @ [mezw] ©




’

™~

Bl ®el "e] A7t 5710l

AJetuA o]

s

8.

A 9] Fa=oF BAf 2] o] 7K

pr1
-

A



© 7t BRH 291 ®o| A%} 2ot

© RAZ 9] 4= 1270t




l

0.6 26,6 06,6 ®6,6 006

il
=3
B
o)
B O
o o Ao
O_.._ N N
A = of o
my
B!
i T _
D I==3 !
o) M = | ~| Hv
B, Hl | H._ ™ P’
JS - T—-——\ ,DI ~r
< O_E N _ N
o o < R \ ] Nl
7 M = @ @
= A
o}
o_m <+
Slv! B
T 5 NP
H < N
O SO~
M X
o m| © ®
TN
=)

Ll



O 50°

-5 THA|

E A ZAA A, F, CE A= FHo

o
QA =Folt}, LACF o] 27]+=2

@ 60°

® 70° @ 80°

1. O L—

® 90°

=

A}
=

a}



12. o5 1299 FedA oA A& AB,BF,CG,CD 9 $HS 747
LJ,K,L ol=tal stak A LI, KL & AYEs 3
g o] moks At

g 1o

P
|
AT EIRK
|

H, __ _Js
E F



F 9715 P, Q 7F vt W] A E

ol dol=P 7t
ol Q7P o] @ ujel] Tatelet
Hj



min

< %1 cm

sz



ELI

3 o]

o7} 457 cm

17)59] %

cm



